"RINT D

SFSH T

W7, 352K Wi T,

A new transformer that continues the legacy of “Tamura’s sound”

Enjoy good sound at a reasonable price

ERXNEALS VA ,
F-900 SERIES

SINGLE %§1%% Specifications

TE—FIZ(Q
WENo. e SRR H?) HAW) 1 RBAERER(MA) VRAVIHHIAH)
(Catalogue No.) 1% (Pri) 2%(Sec) (Frequency Range) (Output) (Pri Max DC Current) (Pri Inductance)
F-912 2.5K 0-4-8-16 20~95K 8 70 16
F-913 3.5K 0-4-8-16 25~90K 8 80 21
F-915* el W PR T 25~65K 12 70 22
¥F-915132013F1 BRFZEFETY. F-915 will be released in January 2013.
PUSH-PULL #¥%% Specifications
A IE—FUZ(Q) 1 REXEREFR(MA) 1RAVEOIIA(H)
SH@No. (Inpedance) B ERE (Hz) HA(W) (Pri Max DC Current) (Pri Inductance)
(Catalogue No.) TR o%(Sec) (Frequency Range) (Output) (Iéfmﬁ:;e() Tu‘ﬁégzn\ée;)( DC OmA DC 8mA
F-925 okPP | 04816 10~100K 30 100%x2 8.0 170 100
#5#RE Winding Diagram
F-912 F-913 F-915 F-925
1%8I(Pri) oiRfl(Sec) 1REBI(Pri) 2R fl(Sec) VRRUPr) 2RflSec) | TREErH) 2Rl (Sec)
(L@ P} 160 @ orG | E‘GRNI Plee 1160 [ } :B_LUESkQP ea@orc )| || —@op P2l (160 @ omc |
| | | 80 G FED )| | | ' 80 e : . 3 Gre ) || ViOERSG2! | 80 G AED )|
| 25K 40 SR e 0 @B .y SGE 0 BB | 500 B B |40 @A),
| WHTE B| “~ o0 @BK)| | | wATEB| * 00 @BIK ) IWHTE 08| -5oo @ex) || LGWSG%  on @8]
i | @em) ||| | @emn) ||| (@eA) || WHTE Py |@om) |
i i OStanwindngi 7—2A#R(Earth) 2 1 } ® Start wmdng! 7—2#R(Earth) ‘; 1 | @ Start wmdng 7—2#R(Earth) | : EOSlartwmdngi 7—2A#k(Earth) }’
£ A Ry Gvws R EEOTTREE SRR VB

A, B: J—F#RD5HLR

A-825

(A,B:Combination of wires through each holes on the bottom plate.)

EBX155%
Vacuum Tube type Inductor

&@No. AVFIIIA(H) ERER(MA) FFEER(MmA) EFETI(Q)
(Catalogue No.) (Inductance) (DC Current) (Max DC Current) (DC Resistance)
A-825 8.0< 250 300 99

EXRXERFS VA

Vacuum Tube Type Power Supply Transformers
o Start winding TU—hBE(Plate Volts) ® Start winding JU—BE(Plate Volts) ° Star‘t winding JU—hBE(Plate Volts)
AAAAA 100V [ YEL B3 (B7mo) s20v | " oov (BLUED! (B as0v | 2] Edreo ) 400V |
B3 Vio | 280V | i i {EJ Vi0 | 320V i E3 Vio | 370V
TRE : ' ! %A ! !
(Pri) {BIBLK ] oV (CT) i (Pri) | :m BLK \ ov (CT) H ! [BLK | OV (CT)
- i DC170mA i e i D | | e Dc170mA
OV [WHTIA | B vio | 280V : OV [WHT &} imo_ 320V ? OV (WHT &)t i0 | 370V
A —5—(Heaten) | B RED ) 320V j s "i {E RED ] 350V | s : "RED | 400V
{ |
25V 3.0A ]“::; 1 ; | B3V20A -1 i | 50V13A i :; | i
M —5—(Heater) | WABC—5—(Heaten) | Hie—5—(Heaten ";‘ | SAEC—5—(Heate) | | wpEe—s— (Heater) =) BREE—5—(Heater)
(GRY (EB] ! (GRY B! i+ N i (cRY 3! i IEIY]
5V 3 0V 30A | 63V20A i ! 5.0V 3.0A | 50V13 5.0V 3.0A
el ; :l I:;EBLU\ | 3 ::I = =) | o JE}:I I:EBLU\
| I 1 H (I —5— |
B i i H i | B3V12A (BRVES!
:I i ' | !:I | | (erNED !:I
| Lo EIGRN i | Lo [ crn i | ] i RS0 i
i | P—RM(Earth) | i | P—2#(Earth) | i F— M (Earth) i




W)—Xd, BERR 7 VT OHilfEEIN

FTESUNVERA—T 4 A DMFZBEELALTIZEN,

This series is designed to facilitate use by those who are about to begin
producing a tube-type amplifier, as well as intermediate-level f:

We encour: joy this exciting tube audio world through this serie
€ €éncourage you 0 enjoy this GXLI[[llg tube audio wor ['llOUg 1 thiS SEries

that continues the legacy of Tamura’s sounds.

SRS T, Tz, ks
FNRTVEIPEREFLE Uz ZLTDEZZITHES, Y )—R

Fi7

EES

“

! 101
90 4-M4(Screw,

64 12-M3(Screw
a5 2-12x20

49 Hole for wires|

9

5
79
102

OB& (Height) : 115mm
OH®E (Mass) : 5.0kg
OY—FE& : 200min

68 $10(Hole)
48 4-M4(Screw)
40 3-M3(Screw]

o [ o

52
i7d

18.5
26

O (Height) : 91mm
OH & (Mass) : 1.6kg
OY—RE : 220min

v —I)3REM (Chassis through-hole)
12- ¢ 4(Hole)
4- ¢ 5(Hole)
2-12%X20

(Hole for wires

&
H
P

ML-type-5P
Terminal block

Hex prop
(4-M3XL15)

HBAEOERICIE, BUR(MI)E1 25T TH
WET SIHLY—FMROBIR- 126 E T 3BF, S v—
SANRERO LG RE L BB ICH TR,
ERDLNHRFAEM GBI HRET
Screw BT AWM SR 2mmE T T,
(B-M3XL12) (The bottom plate of the mounting surface has twelve screw
holes(M3).When you make the Chassis Through-hole, you can
install a terminal block as shown on the left.

Must Keep screw length shorter than 12mm.)

Screw
(4-M4XL10)

EALAV—FMROIRFRNLEBEFRRICT> TS,

Screw
(2-M3xXL10)

Hex prop
(2-M3xL15)

L-type-4P
Terminal block
ML-type-4P
Terminal block
Screw <
(4-M4XL10) e -
[

Screw [

(M3XL8)
BRFEOERICKE, BUR(MI)E37FIEITTHY
9. 5|HLU-FROER EHE T30, S v—>
DRERD L5 AELREERRICE TR,
ERIDLIICIHF AL BB HEET,
WFARMARIREEI0mMm T T,
(The bottom plate of the mounting surface has three screw
holes(M3). When you make the Chassis Through-hole, you can

install a terminal block as shown on the left.
Must Keep screw length shorter than 10mm.)

Please be sure to do the processing of lead wire.



